Echec & Mat junior 98 - Solutions

Essaie de jouer aussi bien que Dylan Viennot

(1) 1...¥xa1! 2.¥xc6+ [2.2xa1 exd5+-] 2...bxc6 3.Exal -+

(2) 1...¥xg2+!! 2.cbxg2 €3+ -+

(3) 1.&xf7+ xf7 2.0 g5+ &f8 [2...50g6 3.He6+—; 2...¢g8 3.0e6+-]
3.2eb+ +-

(4) 1.&xf7+ BxFf7 2.0 g5+ &f6 [2...50e8 3.He6+—; 2...¢2f8 3.H)e6++-]
3. %3+ cbxg5 4.d3+ oh4 5.Wh3#

Parcours du Pion

(1) 1.2d1#
(2) 1.2d1#

(3) 1...Wd1+ 2.che3 Wd2#
(4) 1.8c7+ a7 2.4b6H#

(5) 1.8 [1.f8%72? Pat!] 1-0
(6) 1.Wi3+ b8 2. Wb7#

Parcours du Cavalier

(1) 1.9xf8+ Exf8 2.5)e6+ 1-0

(2) 1...9xd3 2.Wxd3 £f2+ 0-1

(3) 1.&xf7+ &xf7 2.g5+ 1-0

(4) 1.&xf4 Wixf4 2.5d5+ 1-0

(5) 1.4b6+ bxb6 2.Exd8 1-0

(6) 1.2g8+ &f7 [1...2xg8 2.Wixf6+-] 2.8f8+ 1-0



Parcours du Fou

(1) 1.Exe3 Bxh2+ [1...fxe3 2.5hxg2+-] 2.8xh2 fxe3 3.ckg3 *
(2) 1.Wxh7+ shxh7 2.2h3#

(3) 1.2f7+ &xf7 2.Ef6#

(4) 1...5)d4 2.2xd7 [2.cxd4 ¥xb5-+] 2...xf3+ F

(5) 1.2e7 ¥ixe7 2.d6+ 1-0

(6) 1...20d3+ 2.8xd3 [2.cxd3 Wc5+ -+] 2...exd3 3.cxd3 ¥c5+ 4.ke2 Wixb4
0-1

Parcours de la Tour

(1) 1.¥xh7+ Exh7 2.8xh7+ g8 3.2h8+ g7 4.21h7#

(2) 1...2a6+ 2.:f3 Weq+ 3.chg3 Wgd#

(3) 1.2xd5 &xd5 [1...8xd5 2.8xc7+-; 1...exd5 2.8xc5+-; 1...xd5
2.8xc5+-] 2.8xc5 +-

(4) 1...8xb2 2.5f3 [2.8xb2 Hxd3 3.8xd3 8xd3 4.Wxd3 &xc4-+] 2...e4
3.%xe4 &f5 -+

(5) 1...8xa2+ 2.8xa2 e1% 0-1

(6) 1...g3+ 2.2f1 [2.¢bxg3 Wixe2-+; 2.cve1 Wc1+ 3.Wd1 Wixe3+ 4.¢bf1 Wi2#]
2..%b1+ 3.%d1 ¥ixd1+ 4.2xd1 £d3+ 5.62g1 He1# 0-1

Parcours de la Dame

(1) 1.2xe6 fxeb 2. xe6+ Ef7 3.%xd5 +-

(2) 1.e5 dxe5 2.fxe5 Hg4 3.%xc6 Wixch 4.2xe7 P2 5.Wg3 Hxh1 6.8xh1
Bfe8 7.26 +-

(3) 1.Exh7+ bxh7 2.8h1+ ©g6 [2...5g8 3.H)xf6+ sbg7 4.9h6#] 3.%h6+
5 4.Wxf6+ g4 5.Wg5#

(4) 1...8xh3 2.gxh3 ¥xh3 3.We2 g2 4.5fd1 Wh1+ 5.¢bf2 Wh2 0-1

(5) 1...8xf2+ [1...5)g4+ 2.5og2 (2.Wixgd Wixfo+ 3.0h3 WiFf+ 4.bh2 He2+-+)
2. Wixf2+ 3.Wxf2 Nxf2-+] 2.¥xf2 Hg4+ 0-1

(6) 1.2a5 xa5 2.2\ xf6+ ©h8 [2...gx6 3.Wg4+ Hh8 4.&xf7+-] 3.H)xe8 +-



